I o EH
( E2Y ca0 Yu )
L ATAEE o010, 12,02 717 /891 B
A LuEA) S(UHEH)
\ 12 B3 EWHNETD) | S2E% 12 U3 EWHAETR) | S2E%)
W | PY | IRYH | e | YU | 1RYH |
| gel | (1202 | (1126) | FEH ool | (12/02) | (11/25) | ST
N o/
Mo kg | 47,160 | 47160 |§ 45 € 35kg [183400 188000 | & 27
| o ]
D s | 1wy | wmwa |muge o0 T ks | 19 | oma | mdogy
47,300 | 49,380 | 39,047 |+ 208 193,100 | 188,500 | 165,900 | # 10.5
00HE) ZAH<0))
12 BF EWHHNEID) | S2E% 12 BF SWHHAEIR) | S2E%)
moy | oY | 1RYM | moy | gy 1o | .
A eel | (12/02) | (11/25) | 23 n o9 | (12/02) | (11/25) A
(, 10kg | 25400 | 24800 | & 294 . 20kg | 22,600 | 24,000 | § 495
) Vhgd | 19 | 9md | muow igH | 19d | gma | macg)
25,150 | 36,000 | 24943 |+ 18 21,050 | 44,750 | 34,107 |§ 337
Hi=(71+2) Sl
12 W2 SOPIHAEYE) | SR 12 B2 SOPIHAENR) | S2E%)
w | gy [ 1RYM | L . mo | gy | 139 | .
gel | (12/02) | (1/25) | FEH oS o me | 12/02) | (11725) | FEH
20kg 9,600 9,500 |4 447 \ ‘:". 35kg 9,000 9,600 |4 440
THEA | 19 | Umd | syl S b | ea | uma | mack
10,250 | 6,633 5789 |4 658 8,950 6,250 6,074 |4 482
Qo|(CIEPIAIE) ofj ot
12 B3R EWHNEID) | S2E% 12 UF EWHHAETR) | S2E%)
woy | g™ R | moy | gy [z |
cel | (12/02) | (11/25) | SEHH cre] | (12/02) | (11/25) | 2l
10kg 62,000 | 69,667 |+ 64 20kg 13,800 | 14,800 | § 393
VigH | 1ed | 2md | mcg) igH | 1ed | gma | macg)
47,167 | 58,250 | 57,891 |4+ 7.1 15,400 | 22,750 | 20,503 | § 327
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A0 %(34) T
A3 W2 EWRRER) | 5280 A3 W2 EWHAED | 528
m | gy |1z my | gy |1z
ool | (12/02) | (1/25) | 9T Sl | (19/02) | (11/25) | chl
30kg | 435000 |432,000| & 267 10kg | 35800 | 40,000 | + 17.8
VHEHM | 189 | gy | guchy) VHEHM | 18 | gy | gyCh]
432,000 | 593,500 | 475,300 | & 85 60,750 | 30,400 | 39,007 | & 82
ORs(Zhks)
Uz F SWWHAEEIR) | SHE% Uz B SWHAHEIR) | SHE%
g my | gy 1w | o my | gy 1w | o
/NS gl | (12/02) | (11/25) | 220 ool | (12/02) | (11/25) | DSl
7/ N\ 20kg | 90000 | 90000 | & 3058 20kg | 14400 | 13200 |+ 7.9
VHEHM | 1M | ahd | guchy) 17H8d™ | 19™ | dEd | Ay
90,000 | 130,000 | 130,000 | § 308 10825 | 13350 | 19,650 | & 267
g2
vz Y2 ZHA(HETIE) | SHE(%) Mz W ZU7HA(HEVIR) | SHE(%)
Ty g |1 Ty T | 1Fad
ool | (12/02) | (11/25) | FETHH Gol | (15/02) | (11/25) | el
20kg | 49,000 | 52,000 |+ 2.9 kg | 1780 | 1940 |4 50
VHEH | 19 | ugyd | Uy 17H8d™ | 19™ | dEd | Ay
59,050 | 47,600 | 34003 | 437 1790 | 1,695 | 1819 |§ 2.1
opzapt
HZ Y2 =WHA(HEVIR) | SEHE(%) HZ W =HA(HEVIR) | SHE(%)
Taj ge | 1 Ty gY |1
w ool | (12/02) | (1/25) | 9T ool | (12/02) | (1/25) | 9T
L skg | 24200 | 20400 |1 407 74| 20000 | 21,200 |4 487
VHEHM | 139 | gy | gy VHEYM | 189 | gy | gyC]
20,200 | 17,200 | 19293 | ¢ 254 13900 | 13450 | 12,243 |t 634
e &
Uz F SWHAEEIR) | SHE% Uz B SWHAHEIR) | SHE%
my | gy 139 | . my | g [ 139 | .
S Bel | (12/02) | (11729 T Sl | (15/02) | (11/25) | Hchl
@' 10kg | 30,800 | 33400 | & 06 Skg | 27,800 | 32,000 | # 17.5
ViE | e | gmd | o) Vigd | e | gma | mac)
31,500 | 31,000 | 26643 | £+ 156 18500 | 23,650 | 17,280 | 4 60.9
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AFIHZ ) ZHTH(tHAY)
AR WA COPIAANEIR) | S2H5(%) ‘ Wz P SWHEHEZIE) | SHE%)
MO | g | 1FUY | " BO | G 1R
el | (1200 | (/25 | L me |20z | (11725 | e
10kg | 31,000 | 36600 | & 203 ==t 30kg {490,000 | 490,000 | § 1.1
Vi | 19w | omw | mdge 0 0 UhRd | 1@m | omd | Bl
33,800 | 38900 | 36237 | & 145 494,250 | 495,400 | 510,533 | § 4.0
Hlj(Al1) LEf2|tHH
A2 IF CPIHAETE) | S21E%) M2 R SUPHANENNZ) | SUE%
T moj | Y 1R | o I B R R FTETST
; cel | (12/02) | (11/25) | Sl ool | (12/02) | (11/25) | O
o 15kg | 41,200 | 43,200 | & 1238 2kg | 15,000 | 15800 |t 13.6
VhgH | 19d | omu | mucgy) VM | 1Ed | umd | muCy)
37,050 | 47,250 | 38230 |t 7.8 14,900 | 13,200 | 12433 |+ 206
g ) ArSOIHA
M= YW ZHH(HEZIE) | SHE(%) M= G EWHH(HEZIR) | SEHE(%)
o 9e | 1EEH - Ty L | 1LY | oy
cie| | (12/02) | (11/25) | ZEHH LT ool | (12/02) | (11/25) | O
10kg | 35600 | 37,400 %g | 7,800 | 8200 |t 20
VHEY | 19d | iy | Uy VHEM | 19 | gy | guch)
- - | 28200 |t 262 8150 | 7,650 | 7,900 |§ 13
217|(3t2-54) S| 07|(HEY)
HZ P2 =WHA(HEIR) | SEHE(%) Mz Y =HA(HEZIR) | SEHE(%)
mOf | Y 1RYH | L O | Y 1FYH |
ool | (12/02) | (11/25) | Sl _ ool | (12/02) | (11/25) | Sl
100g | 9,103 | 9042 |t 48 = 1009 | 1,762 | 1,810 |% 27
VHEH | 19 | ugyd | Uy VHEH | 19 | ugE | gy
9,141 | 8688 | 7,874 |t 156 1521 | 1,716 | 1913 |& 79
17| AZHERY
V3 Y SWWHAHEIR) | SHE% Wz P SWHAHEIR) | SHE%
B R 1RYH | BO| | R | 1RYM |
el | (12/02) | (11725) | HETHH ciel | (12/02) | (11/25) | SEHH
‘
kg | 5031 | 5039 [+ 16 30 | 5417 | 5458 |4 50
4 VHEHM | 13 | gy | gy VHE™ | 19 | agE | gy
5213 | 4950 | 5261 |§ 44 5541 | 5161 | 5612 |§ 35
12 F2HdsY



2 ug (s

oo
TIr
= Y2 SWIHAEEZIE) | SHE%)
i - T 17 [ R
el | (12/02) | (11/25) | ZaH
MILK 1L 2615 | 2615 |§ 02 X WM, 1HUHS YUK 7|F 5 0|SHE IHY
ZUe sUz Y Ro) Yol et Aot AAZS Fost
VHEd | 18 | gmd | hacidl 3 WA
2,613 | 2621 | 2547 | & 27 AR EX:aT KAMISEHR LA ERESA)
= O] =ALS2
( 7hE U ZAE MRAN )
(2019. 12. 02. 7|& / Tl : &)
B2 (2121/600kg) TLO-SOR|(22l/6~7E)
o 3R HR | SEE(%) o 3R BR | um SUE(%)
=1 2 | KA | S |z vyl B £ B < B b == T P TE T
” o |5928/5921/5750 401|431 || ® oF 3,256/3,260|3,198 | § 0.1 |4 1.8
7{Ml| 6,752 | 6,796 | 6,561 |& 0.6 |1 2.9 4 |3,8483,889 (3,808 |# 1.1 |1 1.1
2-9(21281/600kg) A ALEOIR| (M /7U)
3 | My | 1ad 331 | Ay | 1ad
3,315 3,309 3,743 We ¥(% | 411 411 264
O] | MUChy| - ZZCH] | MUy
sa2s e s2s
+ 02| 8% 14 00 | £+ 557
EHRI(22l/110kg) SA(&/kg)
3H | MK | 1ad 331 | MprE | 1ad
f
: 338 343 326 3 975 1,006 1,240
HFOH] | AdCh| ? ESTRETT
= saig Seg(%
°"= 8 15| 1 37 eTEW Y 31| 3 214
A28/ E2H107H) 22|(2/kg)
31 | A | 14 31 | Ay | 14
1,190 1,143 880 - 2,367 2,367 2,433
zChH] | AEChy| o zChH] | HEChy|
Sus SUE(%
°T= |2 41|12 352 o= 00 | & 27
AR EH: HRHLE ST}
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